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Da

pi

𝑝0  =  (𝑝𝑖 –  𝑝𝑔 min) +  Δ 𝑝,

pgmin

𝑝𝑔 min  = (ρ𝑤𝑔(𝑑min – 
ℎ𝑤

2
) ·10−6 ,
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ρw

dmin

hw

Δp

Δр = 𝑉𝑖𝑛𝑡√
ρ𝑖𝑛𝑡∙𝐸∙𝑡𝑐∙𝐾

𝐸∙𝑡𝑐+𝐷𝑖𝑛𝑡∙𝐾
∙ 10−3,

Vint

Е

К

tс

𝑡𝑐 =
𝑝0𝐷𝑎

2σφ
+ 𝑐1 + 𝑐2, 

σ

φ

0,9

c1

с2

σ

σ = 𝑚𝑖𝑛 (
𝑅𝑒

𝑛𝑒
,

𝑅𝑚

𝑛𝑚
),

Re

Rт

ne

nт

tc,

pgmax Fw,v Fw,h

pgmax

𝛾

𝑝𝑔𝑚𝑎𝑥 = 𝛾𝜌𝑤𝑔 (𝑑𝑚𝑎𝑥 +
ℎ𝑤

2
) ∙ 10−6,

𝑝𝑝
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𝑝𝑝 = 24 ∙ 𝑅𝑒 ∙ (
𝑡𝑐

𝐷𝑎
)2.4, 

𝑝𝑔𝑚𝑎𝑥 < 1.2 ∙ 𝑝𝑝,

pgmax

Da pgmax

𝑝𝑝 

𝐹𝑤,ℎ

𝛾1

𝐹𝑤,ℎ = 𝛾𝛾1√𝐹𝑤,𝑠
2 + 𝐹𝑤,𝑖

2 ,

𝐹𝑤,𝑣

𝛾2

𝐹𝑤,𝑣 = 𝛾𝛾2𝑐𝑣∙
ρ𝑤∙𝑉𝑤

2

2
∙ 𝐷𝑎,
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𝐵
𝑅1

⁄ = 0,271; 𝐿 2 ∙ 𝐵⁄ = 40

℃

Pr = 0,7,

k − ω k − ε
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𝑦+ =
𝑅𝑒∙√

𝐶𝑓

2

𝛿
∙ ∆𝑦, 𝐶𝑓 =

0,455

(ln(0,06∙𝑅𝑒))2

∆𝑦 𝑦+ 𝐶𝑓

𝑅𝑒

𝑦+

𝑦+ = 50;

𝑦+ = 10; 𝑦+ = 5; 𝑦+ = 1

α =
Nu∗∙λ

2∙υ
, Ta =

ω

ϑ
∙ R1

0,5 ∙ B1,5, Nu∗ =
𝑁𝑢

𝑃𝑟
1

3⁄
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Nu∗ α

υ λ ϑ

ω

𝑅𝑒 = 3 ∙ 104, 𝑇𝑎 = 102 … 104.

𝑦+ = 5; 
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КАТАЛИТИЧЕСКИЙ КРЕКИНГ 

С НЕПОДВИЖНЫМ 
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С РЕАКТОРОМ С  
ПСЕВДОСЖИЖЕННЫМ 
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НА ДИСТИЛЛЯТНОМ 
СЫРЬЕ 

С ЛИФТ- 
РЕАКТОРОМ  

С РЕАКТОРОМ С  
УЛЬТРОКОРОТКИМ ВРЕМЕНЕМ 

КОНТАКТА (MSCC) 

НА ОСТАТОЧНОМ 

СЫРЬЕ 

С ШАРИКОВЫМ  
КАТАЛИЗАТОРОМ 

С МАКСИМАЛЬНЫМ 
ПОЛУЧЕНИЕМ БЕНЗИНА 
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